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100 ¥-3 & 2,889,340 1,200,491

101 ¥-3 & 2,854,214 1,202,985

102 ¥-3 & 2,839,644 1,175,890

103 ¥-3 & 2,854,820 1,193,359

104 ¥-3 & 2,897,781 1,170,267
r AL W 106,215 13 169,757 1
% At L 116,756 12 65,198 10
Ft ¥ i 48,150 16 148,842 2
4 ¥ L 264,541 3 39,276 13
% 1 i 250,150 4 93,023 5
% s L 117,440 11 112,316 3
B i B4 229,468 6 12,452 15
r s g 95,362 14 27,486 14
a i 2 162,960 8 54,912 11
35 L ot 84,328 15 9,492 16
2 Fod % 143,884 9 76,933 6
Z s ot 287,921 2 66,949 8
£ E ot 205,561 7 40,869 12
23 L 2% 126,776 10 103,905 4
+ i ot 230,268 5 67,329 7
= T ot 391,362 1 66,342 9
1 2 ot - - - -
= 3 i 15,638 17 8,833 17
7 % B 10,101 19 3,528 18
£ E:) i 10,900 18 2,825 19
& e - - - - -
i pad Bk - - - -

TR KR L SR E SR A o



B K W 2l £ R B b & R kP #w

'k 5 ~ 2 ) (=%) (= %) (&) ()
100 # R - 105,008 161,420 37 301
101 i A - 105,053 163,164 37 391
102 # R - 105,053 166,846 37 301
103 # 2 - 105,670 167,106 37 393
104 i 3 - 106,215 169,757 37 393
LR BLANE - 106,011 5 137
i% 28.8 - 12,913 3 20
. 9.9 - 1,430 - 1
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# BROOow  Z2l# on £ OB %_ B A ko e H
'k 5 (~2) (=2=) 2D (E) (i)
519 4% Sk 225 - 7,520 - 9
B B e 6.2 - 5,200 2 5
g o A 8.7 - 3,700 - 3
#UZ? L= /5‘— 12.1 - - - 4
% i E 9.4 - 5,060 - 11
* ¥ E 24.2 - 5,619 - 4
, * i 4.0 - 800 - 4
~ v A 4.0 - 780 - 7
g Ea e 5.0 - 3,400 - 6
~ T A 11.0 - 12,870 - 14
* & E 145 - 6,340 - 4
t pal E 5.5 - 660 - 3
& i= & 6.0 - 2,240 - 9
T S 4 R4 11.7 - 6,650 - 10
- = E 5.7 - 5,500 - 5
H T E 8.3 - 9,974 - 9
H + i 16.0 - 15,355 - 9
By w e ot 106,215 63,746 32 256
re 'k e 158.7 100,263 61,936 32 253
pay % 135 5,952 1,810 - 3
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& &R ® zl|iz 2 £ R S E- ko 7w

k 5] ~2) (=%) (=%) (&) ()

100 P R - 116,756 64,828 281 214

101 E: A - 116,756 65,198 281 214

102 E A - 116,756 65,198 283 215

103 E: A - 116,756 65,198 353 226

104 E A - 116,756 65,198 353 226
B e ]t 116,756 65,198 353 226

% k i 158.7 116,756 65,198 353 226
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'k )i Yl (=2) (=2) (=2) (&) ()
100 F P2 - 45,678 144,129 - 61
101 E: A - 45,885 144,129 - 61
102 E: A - 46,634 144,649 5 61
103 E: A - 47,810 147,883 5 65
104 E: A - 48,150 148,842 5 67
LR SN 1,880 - -
B AR % 45.5 1,880 - - -
i = B e 40,872 145,792 5 44
% # % 30.7 15,374 56,890 4 12
* (=2 % 36.7 12,503 21,807 1 10
A 3 % 24.2 9,652 11,936 - 18
e i % 14.8 - 9,672 - 1
% 7, A 18.6 - 20,568 - 1
B 3 % 7.8 - 11,927 - 1
37 B % 13.6 3,343 12,992 - 1
By oe o)t 5,398 3,050 - 23
I k i 158.70 5,398 3,050 - 23
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-k i 5 (22) (') (') () (i)
100 # R - 281,870 66,650 11 1,368
101 -2 R - 285,048 67,200 11 1,396
102 # A - 262,556 37,733 11 1,290
103 # R - 263,501 37,898 11 1,304
104 # A - 264,541 39,276 11 1,316
I BN 247,627 37,254 11 1,301
* > i 95.8 39,297 2,503 - 335
4 v i 124.2 38,923 9,473 8 215
5 Sk 119.1 169,407 25,278 3 751
i = B 16,914 2,022 - 15
il ¥ Sk 9.5 16,914 2,022 - 15
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K 5 ~2) (==) (==) (B) (i)
100 E 2 - 256,538 110,200 159 587
101 # R - 262,693 116,137 160 587
102 # R - 248,280 90,687 160 404
103 # Iy - 249,500 92,463 160 404
104 # R - 250,150 93,023 160 404
I SN 250,150 93,023 160 404
A ¥ & 80.9 34,028 1,113 19 129
& -k i 65.0 68,395 1,717 55 5
i 2 & 138.5 88,990 78,580 21 195
# -k & 41.3 48,352 7,914 59 23
= = i 61.2 10,385 3,699 6 52
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K Wl o (=2) (=) (=) (&) (s
100 & A - 111,977 113,497 9 532
101 # A - 114,753 99,290 8 505
102 E: I - 116,390 102,022 9 506
103 E: A - 116,390 105,824 9 514
104 F: A - 117,440 112,316 9 516
L B 117,440 112,316 9 516
= % 61.2 15,161 17,215 1 65
A - 4 38.0 26,063 10,042 4 -
B % 171.0 76,216 85,059 4 451
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(23) (%) (2 <) () ()

- 244,637 12,062 52 698
- 228,167 11,262 43 693
- 228,969 11,262 43 683
- 229,468 11,262 44 697
- 229,468 12,452 44 695
L L B 161,519 9,271 44 686
73.0 158,834 8,896 44 685
48.2 2,685 375 - 1
A GUDL - BN N 64,358 2,921 - 9
8.8 7,663 1,620 - 1
48.4 10,378 1,266 - 2
18.1 8,302 - - 1
19.3 34,461 35 - 5
8.0 3,554 - - -
IR B 3,991 260 - -
s 2.0 877 - - -
% 6.5 500 - - -
% 0.6 318 - - -
% 15 535 260 - -
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K Wl (22) 2e) (> ) () (&)
100 ¥ I - 89,592 23,658 43 269
101 ¥-2 & - 90,146 24,003 43 273
102 ¥ & - 92,254 24,189 43 278
103 ¥-2 & - 94,175 25,230 43 278
104 ¥ & - 95,362 27,486 43 283
L L B 79,369 19,898 43 283
B o s 45.5 42,545 1,416 25 38
EF L E 63.0 36,623 17,591 18 245
v V2 s 54.0 201 891 - -
TAGDY BN 15,993 7,588 - -
k- Tk 34.0 15,993 7,588 - -
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K i H o (22) (2 2) (2 2) () ()
100 # F - 125,990 82,772 31 383
101 # & - 127,857 90,756 31 387
102 ¥:3 & - 128,957 93,137 31 388
103 # & - 129,987 96,393 32 389
104 ¥:3 & - 162,960 54,912 32 443
¢ i .F, IR 76,411 44,639 23 431
¢ =S i 54.0 20,933 10,003 6 19
fs 13 K 58.3 38,160 30,589 17 241
=< ® i 95.8 17,318 4,047 - 171
(7 )'g L - 86,549 10,273 9 12
U i e 32.5 35,170 1,622 9 2
] 7 E 10.0 12,293 3,583 - 1
Jo A2 i 16.5 16,576 5,068 - 1
ES 42 E 14.0 22,510 - - 8
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K 5| ~2) (2 2) (2 2) (&) ()

100 E =Y - 82,860 8,727 17 192

101 & R - 84,161 9,012 17 193

102 # =Y - 84,161 9,492 17 199

103 # I - 84,161 9,492 17 200

104 E: Iy - 84,328 9,492 17 200
- B 84,328 9,492 17 200

4 % 119.1 38,541 2,610 - 102

it k £ 186.6 45,787 6,882 17 98
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PR TN P % b E ko £ #

K i Yl (22) (2=7) (=2) () (&)
100 = 3 - 140,027 71,808 32 260
101 & A - 140,940 73,678 32 241
102 E 3 - 141,753 76,778 32 251
103 & A - 142,696 76,878 32 260
104 E 3 - 143,884 76,933 32 273
L ] 143,884 76,933 32 273
i 119.1 62,922 18,696 . 131
k % 186.6 80,962 58,237 32 142
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& &R ® Zl|iz m £ R B B E- ko 7w
K Wl (22) (=%) (=%) (&) ()
100 P R - 276,241 61,939 258 584
101 E: A - 278,643 63,487 267 587
102 E: R - 282,433 66,004 276 589
103 E: A - 285,799 66,004 282 589
104 E: R - 287,921 66,949 289 589
R 221,746 59,786 219 586
A k % 186.6 55,166 2,890 19 91
# 7 % 82.0 166,580 56,896 200 495
() E P 66,175 7,163 70 3
0k B Gk 50.0 66,175 7,163 70 3
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K Wl (22) (=2) (=2) (i) ()
100 P 3 - 200,061 40,284 218 634
101 & A - 200,825 40,284 219 634
102 E 3 - 204,616 40,284 224 634
103 E A - 205,561 40,284 228 634
104 E 3 - 205,561 40,869 228 635
L E e ] 205,561 40,869 228 635
H k % 186.6 - 550 . -
A % i 82.0 69,632 10,616 55 92
1 3 % 75.9 58,074 10,815 96 251
A ¥ % 80.9 77,855 18,888 77 292
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-k sl (22) (=2=) (2 2) (B) (i)
100 # IS - 172,584 83,637 5 1,183
101 F: Iy - 123,572 89,944 5 755
102 # A - 126,476 101,355 4 755
103 # Iy - 126,776 103,905 4 755
104 # A - 126,776 103,905 4 755
N B L 111,885 95,668 3 735
B B i 171.0 80,735 30,294 3 676
4 oS % 44.0 23,562 55,006 - 55
z & i 31.9 7,588 10,368 - 4
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& &R ® Zl|iz m £ R B B A ko 7w

'k 5 (22) (=2=) 2) (E) (i)

LAGIDY-BLENR 14,891 8,237 20
T 2 i 41.3 1,268 116 -
b = E 22.3 4,015 904 4
+ £ i 25.7 3,592 1,657 9
i, oS e 20.4 1,077 1,674 5
i3 4 e 20.7 2,059 1,207 1
oS T & 32.0 2,880 2,399 1
VoS + ik 6.0 - 280 -
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k (22) (%) (2 <) (3 '
100 - 225,854 63,986 1,318
101 - 229,711 65,303 1,373
102 - 229,711 66,116 1,403
103 - 230,198 66,436 1,476
104 - 230,268 67,329 1,555

e ] 92,481 32,491 1,461
5 84.4 83,284 31,791 1,438
% 81.2 9,197 700 23
BB )Rl 137,787 34,838 94
o 39.3 10,490 1,575 14
11 37.8 15,792 3,549 13
) 20.5 53,700 1,272 13
b 3.0 - - -
@ 3.0 220 220 1
% 12.1 9,042 - 3
i i 7.7 3,791 - -
+ i 18.7 3,334 1,043 4
5 % 7.2 1,880 4,780 -
i i 8.3 50 1,020 -
4 % 23.7 9,026 - 13
& i 26.4 8,678 900 2
* 2 % 35.2 17,900 5,220 17
2 % 4.0 982 650 3
%" % 4.0 - 118 ]
~ % 4.0 - 25 -
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# BoOoOow  ZliF o £ OB %o b =R ko H @
'k 5 (=~2) (=2=) (=2=) (E) (i)
100 i R - 378,241 65,827 87 2,175
101 - R - 383,365 65,977 87 2,255
102 # A - 387,946 65,977 87 2,274
103 i R - 389,733 66,342 87 2,273
104 # A - 391,362 66,342 87 2,290

N B L 336,088 53,663 86 2,006
R 81.2 178,241 29,326 47 1,033
= i & 57.3 157,667 24,337 39 972
fr T s 48.2 180 - - 1
(P )E P Lt 55,274 12,679 1 284
% z i 11.4 13,671 6,331 - 7
E A i 15.8 23,207 2,565 1 63
= % i 55.0 5,088 - - 104
= £ iz 5.0 201 - - 33
oA & A 17.0 8,211 1,711 - 54
e W i 5.5 526 437 - 2
% 4 i 5.0 870 50 - -
= B i 25.0 843 690 - 9
-k i i 8.0 2,274 895 - 10
y & i 3.0 - - - -
= o iE 3.0 - - - -
~ T k% 10.0 383 - - 2
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K M| (2e) (2 ) (2> ) (3) )

100 P 3 - 16,342 19,739 1 11

101 & A - 15,638 8,833 1 11

102 E 3 - 15,638 8,833 1 11

103 E A - 15,638 8,833 1 11

104 E 3 - 15,638 8,833 1 11
R R RIS 15,638 8,833 1 11

i K i 158.7 15,638 8,833 1 11
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100 P R - 8,556 2,928 3 19

101 E: A - 10,101 2,928 5 19

102 E: R - 10,101 2,928 5 19

103 E: A - 10,101 3,528 5 19

104 E A - 10,101 3,528 5 19
R FC RN 10,101 3,528 5 19

5 % % 63.0 10,101 3,528 19
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-k 5| = 2) (2&) (2&) () (=)
100 # A - 10,528 2.400 14 15
101 F: R - 10,900 2,400 15 15
102 # A - 10,900 2.400 15 15
103 # R - 10,900 2,400 15 15
104 # A& - 10,900 2.825 16 15

N LN 10,900 2,825 16 15
} 3 % 75.9 7,377 425 12 3
A ¥ i 80.9 3,523 2,400 4 12
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